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Functions, Systems, and Equations

Review for test

Alocal radio station :f-;pm’osors a T-shirt toss and floppy hat drop during home
pro basketball games. The T-shirts cost the radio station $8 each, and the hats
cost 512 vach,

a. The promotional cost C for the radio station depends on the numbers of
shirts s and hats I given away at the game. Write a rule expressing C as a
function of s and .

¢ ‘85 + 13k

b. How will the radio station’s cost change as the number of shirts given away
increases? How will cost change as the number of hats given away increases?
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. Suppose the radio station has budgeted $2,400 per game for giveaways
Write an equation that represents ti@e question, “How many shirts and J"m s
can the radio station give away for $2,400?”

JHOO = Ba+ I




d. List 4 solutions to your equation from Part ¢, Draw a graph that shows all

of the possible solutions.

Pméwers widl vaur a, . Some pcf;%ibkﬁ 50!%41%& o€,

300 shirts ard OhodS
150 ahitts and ©0 hadS
15 Shirts and 160 hadS

O shiFls and 00 hadS

ats

o h

Lumbar, o
/
/
/

™~

N

N

NN

. 1% N(ﬁmﬁoel“ of :%%f\‘i\/ﬁ
e. Rewrite vour equation from Part ¢ to express I as a function of s.
Explain what the slope and /i-intercept of this linear function tell yvou
about the situation. 3= 300~1.5h
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. Rewrite Bach of the following linear equations to express y as a function

of x. Determine the slope and y-intercept for the graph of the solution set of
each equation.,
a. vt =6 b, 8v — Sy = 20 ¢ —dx — 3y =15
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To participate in a school trip, Kim had ko earm $85 in one week, Kim could
F F b

carn 5% per hour babysithing and $15 per hour for vard work, but Kim's
parents limit work time to 8 hours per week.

a. Write two equations, one that represents the condition on total number
of hours to be worked and the other which relates the number of hours
worked at each job toward the fund-raising goal.
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b Solve the system of equations vou wrote in Park a to find oul how many
hours Kim will have to work at each jobr to exactly meet the income goal

and the time constraint, B y elim e or—
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c. Explain Wh}?Q y(;’u gose that method to solve the system. ’
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2. Solve by graphing:

i = Sx+ 15 y’

3. Solve by substitution:
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4. Solve by elimination:
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Laura and Andy are trving to earn money to buy airplane tiyketg to visit their
favorite aunt, Annie. Laura’s ticket is going to cost her 5280 while Andy found
a ticket for 5230 on the Internet. To earn their money, they have both decided
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to mow lawns and babvsit. Laura charges $7 per hour for babysitting while
Andy charges $5 per hour, To mow a lawn, Laura charges $14 per lawn while
Andy charges 516 per lawn,

a. Write an equation relating income from Laura’s work to her ticket cost. Use
B ta represent number of hours babysitting and L to represent number of
lawns mowed. Use the same variables to write another equation relating
incame from Andy’s work to his ticket cost.

bauwra, TBYIHL = 280
pmd\] L BB oL = 230

b. Is it possible that Laura and Andy could each reach their ticket price goal
by mowing the same number of lawns and babysitting the same number of
hours? If so, find those numbers; if not, explain how vou know,
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On the set of axes below, solve the following system of inequalities graphically.
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State the coordinates of a point in the solution set.

Ary poink in dhe regiom labeled 5 .
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Solve the following system of equations algebraically or graphically:
y=x"+x-6

y+x=2
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